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Development of Thoughts
Q No. ‘| Question
Ans. | a 1 B | " | d
1 What are the Highest Common Factor and Lowest Common Multiple of 6, 72 1207 /
6, 72, 120 F Hgcadd FAYEGH A’ TYedH WA FAT &2
12, 180 | 6, 360 | 360, 6 | 12, 360
2 If a quadratic polynomial y = ax’+bx+c intersects x axis at ‘aand B, then /
| TR v SR age y = ax'+bxec BT GUX A a3 fw wear £
a+B=-b/a < |a¥B=atb - - |axB=ac - |ap=i
3 If in two linear equations ax +by'= cand dx+ ey = = fand ald = ble.= cf then> which
of the followrng is true about the two equations? / e gfavei et ax+ by =c
BRE dx+ey F3IR a/d = ble=c/f oY oY FARN & a1 ¥ Fri & B W-wed &7
' They represent mtersectlng They represent " [Have’ a unrque ‘1None c'>_f o
lines /- &- 3iafdsmera Y@t | coincident lines. . ‘solution. / t& |'these / z#
a’raﬂﬁ?ﬁ% Farelr Y@t #r gfich ¥ | Ry g ¥ ¥ A 7

--------------

4 Rmtsofﬁ\equadrahceqwborBZ(2+x—528 0is: /aj%m;fm’mma +X=528= oavrqu
e T |3 [Both a&b/aambaﬁr ]Noneofthese/ sa#eaméaﬁ

«««««

r um of all posutrve mtegers from 1 0 100s: T mfr i Wﬁa? T @r 100 71 zr‘ru'r o
J 5050 _ _I 5020 _ - _l,.1oaoo s l 2400

N
L)

rs' - - 1if'area.of similar triangles A ABC and A DEF be 64 sq cmand 121 sq. cmand EF =
_ 15.4 cm then BC equals: / af;. wA P3S4 ABC 3T, A DEF#T 86N 64 4 M IR
121 T A ¥ W g - 15.4 cm ¥, @t BC TR

' 80"‘/M80m/18wﬁ. |112cm/112m ]82cm/82m

O g i verlcs ot (2,3, (1, 0)and (2, )16 /-

v B, Bk o (2, 3), (., 0) 3t
2,-4) & sww dawe
212cm / 21/2 sq units ; AL .

212 3 212 = g i:zg‘ruz;gz/ Me;:‘gm;;/

8 leTan 30°l(1+Tan230°)equ3|s_- =53 . i i
12 ) ;
\\lm60° | cos 60° : "Ta"T3° /(z+Tan230°) & T g §:
R an 60 | Sin 30°




DOTS

IB SECURITY ASSISTANT QUESTION
PAPER HELD ON 17 FEB 2019

Academy Ph: 9539019861
9 The angle of elevation of the top of a tower from a point on ground which | is 30 ‘
! away from the foot of the tower is 30°. Height of the tower is :/ TFH ﬁg 3 m: ;s
R & 30 #Hex gy foua ¥, ¥ AR & f¥ F7 37727 A7 30° ¥ | Aem #r s 3
10/N3mtrs. /| 10 X V3 mtrs./ 100 mtrs./ 20 mirs/ '
10 V3 #eX 10 Xv3 #eX 100 #Hre 20 Hrex
The length of a tangent from a point A at a distance 5 cms. from the centre of the

10

circle is 4 cms. Radius of the circle is / &l ga & &g Rig & 5 ¥ A g W Ry
ﬁgv#w&??mﬁmr#4m%lz[a@rﬁmt

2cms /[ 2 JH: [3cms/3mﬁ ]\13 cmslvsm lJS/Zcms/va/zm
11 |'Length-ofa minute hand ofa clock is 14 cms. Area swept by the mlnute hand in 5
i minutes is:/:" “
w#mﬁtggzﬁrmrgmm % 5%#%&@#%@%
154 sqcms/. | 154i3sqems 7. 210 sq.cms / 154/ 3 sq cms /
|15 TR L ,-15413}a=‘r-m,-,, 210w | 1543 .
12 l A metallic sphere of radius 4.2 cms. is melted and recast into the shape of a cylmder
1. - -| of radius 6. cms. Helghtof the resultant cylinder would be il o te
U 4.2 W mmmmamwwem ﬁmmmﬁﬁm
“““ itga AT v srar ¥ aRondEe: o sy fr Fag el
=} 110 oma 10, . | 3.84 ome/ 3,84 mﬂ 30 ome/30 A, | 2.74 oms/. 274 3.
13 | Abox contains 3 blue, 2 white ‘and 4 red marbles. If'a' inerble is drawn at random from
_____ the box, what is the probability that it would be white./
p TR H 3 A Zmaﬁt4maﬁa@rmuﬂr§#f I uﬁm##wm
& ﬁmmmmemmammmmarmmal |
- - | Cannot be determined/ tiRa it fwar ot wver |17 .. | 7/9 | 2/9
14 . - Which of the following cannot be the probability of an event? /
et 3 & =1 o T B A af @ wadn %850
2/3 ‘.‘1.5 "'l15% 10;7
15

Mean of a grouped data calculated using direct method, assu.
step deviation method: / W& WHFae 3ifFE @ Ay, ﬁr%ed mean methgﬂ?fm

- Raew R & @R o F @
Is the same/ Varies slightly/ | Has huge variation
ol AR | o b |t of
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16 Which of the following is a Prime Number? / @51 # & Fia e 3osw §&4T 87
12 |7 |9 (4

=x" - -3 is divided by polynomlal G (x) = x*- 2, the
17 If polynomial P(x)= x° 3x? + 5x-3 is
quotient and remainder are : / A& qgye P(x)= x*=3x* + 5x-3 R g 1 agvz
G (x) = x*-2 ®, ar afey AR AvF

x-3, 7x-9 | x, 7x | x-3, 7x [x. 7x.9

—

18 If in triangle ABC, if side AB=6v3, AC=12 and BC=6, ‘then angle B equals: / i
| uw Prgr ABC 3, 3R SO AB=6v3, AC=12 3R BC=6 ¥ Y FoT B FAT ¥
120° [60° [90° [ 45°

What are the coordinates of the polnt which dlwdes the hne joming (-1, 7) and (4 -3)
in the ratio 2:3 7 /

-wﬁgtﬁﬁmmfa?mmmu 7) #RX (4, -3) F¥ 2.3 F IO H
Ranfoa w=ar b2

i) 1 0.9) S T IR 7Y

20 | Volume ofa eohe with'radius'r and heighthis &/

P' EMMrWMhtmmm
L rh? = | neh2 - [mrhia __Lmrha
: 21‘ B '-Internatfena_l Day of. Yoge Is celebrated annuallyon: /-

TF o sy o REw Aawr e b

21 June/ 10 December/ - : - |21 July / ‘ 21_ Septemper / :
21 57 10 Raww "213_@73 C | 21 REew o

22 | City of lakes'in India is: / R # sfelt &7 T E
Lucknow / Chandigarh / Bengaluru / Udaipur /

23 Which of the diseases is not caused by virus? /
Fta @1 o1 fawry ST 7@ e ¥ ?
B / aiR= | Chickenpox/ ¥% | Dengue / & [Polio / dfera

\f How many states are there in India? / ¥RE # fFaar usw &

26 | 28 [ 27 | A B
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25

During Akbar’s regime, who carried out land revenue reforms: / 3&e & HaFHIe #,
e s guR fRe

Mann Singh / A RF | Todar Mal /a'ex A ] Birbal / d_&er ] Tansen / a=A«

Which of the following is the unit of heat? / &= # ¥ 3wAT #r gor§ Hia Hr §?

Joule / S[& [ Ohm/ 3#H | Ampere/TFIIT | Volt / afee

27

Who among the following is the future Buddha that is yet to come? / fast # & i
wfasy & 9¢ €, e el smaRa @ € ?

Lokes Varna Maitreya/ #37 . Laughing Buddha . = . [ Chanakya / =mora

[@vRT aoy ; | wfheT 8

Jaundice is caused due to malfunctioning of :/ .
qifear W v # @ @ F FROT g §7

Tsangpo river flowing through Tibet is known in Indié.a's:: /
fdeaa # ¥ it agar areh T A& F HRT F AT S B

nnnnn

Yuri Ga'gai'in.. the first cgsmonéﬁf to reach space, was from which country?- |
78 TR, HaRer # ggEe A SUH IaRer A, BRE 4w & 9 '

UK / gamees RsA | Japan / s [China /-#= .. [Russia /&

\

31

What is boiling point of water in Fahrenheit? o
URABTEE ¥ aTe @ T W et o
100°F [32°F

[ 212°F | 0°F

32

Kalibangan, the Indus Valley site_is in: 7
Free, Y ard ww, P b

_ RajasthanATseurGujarat TSRTE Madhya Pradesh/atar w&r | Uttar Pradesh/see seer

33

Who was the founder of Banaras Hindy University? /

v iy e & s sty o ) " J

Sukumar Dey/ | Madan Mohan Malviya / | Dr. Rajendra Prasad/ | Motilal Nehru /
AR 3 e AEA Aredrg 1. G TS e AEE
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(34 | Where do you find the temple of Angkorwat?
[Thailand / arsdfs | Malaysia / #efRrr | Combodia / arFa’lfsuTTMyanmgr | FTAT |

35 | Which of the following can cause a Tsunami?/
foet # & Hl AT T HWOT Y TRl 87
Volcano/saramag ] Avalanche / fe&-¥@ l Tornado / #@sY | Earthquake / 3&¥9

36 | The Bhakra Dam in India is built on: / $1Ra # #r@sT iy fAffAa &

Beas River ' * Uhelum River -~ .| Sutluj River .".- . Ghagra River

37 | Who wrote ’Ramcﬁéritmanas? / ;
THIRTHTT & T0RAar a7

Tulsidas/qerfiers. . | Vedvyas/. daeara-... | Kalidas/ #Tetemt  |-Panini/. o -,

........ o
B g g

. | s & e & e o g T

| Godavari/ e | Krishna/_gsar .| Kaveri/awad. | None of these/ & & 78

39 W. here is the'Tungbhadra Sanctuary Jocated? / ————
O IR wR R gy o
MP/ Y -5 - , UP / g,

- o
LIS Rl Y < )
|

[ Karnataka / efiess | Wa 7 e e

140, | Where is Nanda Devi m :
€ : — =174 Yevi. Mountain? : = ;
Uttrakhand / S R

~. |,Rajast ‘ et -
|k ajasthan/ Himachal Pradesh / Arunachal Pradesh/

R - | e e IO Ry

whm Is the original nm =m=r - ' .
maya J ' .
= mwy na/. . hagwat Gita / “anchtantra/ Mahabharata/

Y

g2 :Ruteh';c:;m&yémdeﬂdancyof: /
Rrey o7 dr
Vitamin D/ e S ey B2

A itamin :/ itamin B12/ Vitamin A/
e . S

~ P —~ ~
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Who was the first woman speaker of Lok Sabha?/
A T B TyRw AR THNRY ST 9

Sumitra Mahajan/ | Najma Heptullah/ | Meira Kumar/ Paratibha Patil /
Aot EELI S HRT FAR wfe ofeer

With which sport is term Butterfly associated with:/
e A ¥ Texvars e wefg ¥7

Kabaddi/&azsr Cricket/ fde Football/gearer Swimming/ T

- [as

Thgresolution for removal of Vice President of India should be moved in: /

AR & U & AHrE F GEA T QT AR

B L L B i R el v wew A, 4_4-33##1#3:@-

Lok Sabha/ Rajya Sabha/ Either of the Houses/ |.None of these /

P Whathappens when: chlute‘hydrochlorrc acid is-added to iron ﬁllings? 1

mu@ﬂﬁmuﬁstﬁaﬁﬁgqﬁ#mmt aw w4 B

| o et d O | e e E | af e | ah amr ko

Hydrogen gas and iron| Chlorine gasandiron, | Noreaction | Iron saltand water
chloride are produced/ hydroxnde are produced/ takes place/ are produced &

mmaﬂr

(L7

A solution turns red litmus paper blde its Ph'is Ilkely to be:/ i b i I
mmmﬁmﬁwﬂm#wﬁaﬁawmt 1 g o, . g

oA E Pl e T e ST

- An element reacts with oxygen to glve a compound with & high meltlng polnt This

compound is also ‘sofuble inwater, The element is likely to be:/ =~ L

wmmtmmmwmmwmwmmhw
mm#wmnaam

Calclum/ %fRrasr | Carbon/ wréwr | Silicon / Rifewl | Iron/ 3w

VR R LR

means that : /
BT ¥ FHA A A 1 qer amgw #r aww § e @ @, g vtk

| While db'oklng, if the bottom'of the vessel Is getting blackened on the outside, it J |
f

cooked completely/ completely/ $uar qofar: |/ #uer e & completely / $

The food is not The fuel is not burning | The fuel is wet | The fuel is burning
AT qoie: ger wff
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50 Which of the following statements is not correct about the trend when going from left
to right across the periods of the periodic table:/ fawr # & @l &1 o
AR F A et T E, g ¥ At & @ A
The elements The number of Atoms lose their | Oxides of the
become less valence electrons electron more element become
metallic in nature /| increase / Fetagt & | easlly/ 3] 39 | more acidic / @
qclt Y T | Tl e & | SR @ afw | & merarssw s
uifees gt & wEar # gie gl & | el @ A ¥ | gl @Y o &
51 Kidneys in human beings are a part of the system for : /
AT R # IE fhw qomeh @ v s ¥
Nutrition / grgor ] Respiration/ @@= , Excretion/Aer fawster [ Transportation/ j
52 The gap between two neurons is called a; /
A =R F AT F I3 wad F
Dendrite/3zrze | Synapse/ famrem | Axon/ weraer | Impulse/srrew -I :
53 In a plant, the anther contains: / v 9 & wETEy grar & j ;
Sepals / q F1 awaew | Ovules/ drwmoy | Pistil / 957 A | Pollen grains/ Wma:w7
54 In evolutionary terms, we have more in common with:/
dFRE e A, gwd afw HAWAT & 7
A Chinese school i
s ;ow Chirppanzee / Spider / Bacterium/ =
55 Which of the following material cannot b
maammmmm#:we:;re%;";km“'eg” : ]
Water/ qrfr ] Glass / efrarr Plastic / carfees
[ Clay / ¢ 7
56 The human eyes form the image of an object at its/
AT At & fedy wr wfafde wwar §: 7
| Cornea / w¥ferar Irls / ¥meTH | Pupll 7 qarsty | Retina / Yfear i
57 - | Which of the following terms does not represent electric power in a clrculit? /
7T # 3§ w1 v oftqy # Rega v ® af o b 7
R TR [vi (VIR il
R
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58 The device used for producing electric current is called: /
ey waw Y1 F & Y v @6 arer a7 e & J

Generator/ J#vex [ Galvanometer/ deaaTdex l Ammeter/ 3T [Motor/ A |

59 Which of the following is not an example of bio-mass energy source? /

o & & FlF SRAF 35T E@F F7 uF IgEOr b 67
Wood / &&3r [ Gobar gas/ &w 3w l Nuclear energy/ ATTRHA Fait I Coal/ Hraer

60 Which of the following constitute a food chain? /
ot & A FiT TF e AT G 82

Grass, Wheat and Grass, Goatand | Goat, Cow and Grass, Fish and
Mango/ar®, 3¢ 3 | Human / a4, Elephant / &, Goat/ |TH, AT
A F&d AR AT am 3R g IR Ty

For questlon nos. 61-70, complete the sentence by choosmg the most appropnate optnon
from those given below:

61 Pleasure and pain are inseparable facets..............:.. human emsternce
in__ DO > e L lOfA ""|‘by_
Fz \fs' there .......... fitness centre near your house?
an . l the -4 | a . | none of these

63 He has hardly‘ rgad ....... book.

many : all ' : | the ‘ I none of these - .
84 | coin of pain is real and affects one's body, mind and spirit.
Experiencing | Experience 'Experienced | none of these
65 He drove with....... care and hence was fined by Traffic Police. .
much | little [ al | none of these
\33 ----- cultural diversity atiracts tourists from all over the world.
Indla's | India | Both (a) & (b) | none of these
67 | have been to ....... doctor, whose name figured In the Times of India. j
the an any | none of these
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8 |The.... monkeys that escaped from the Delhi Zoo were found eating bananas in a

frult shop.
| many | three T | different 3

\fg LWe 1) e to go out for a picnic tomorrow.
| plan | planning | plans | think

70 \ The train must........ reached Delhi by now.

[has l had l have ' ] none of the_se

For question nos. 71-75, select the word spelled mcorrectly

(71 | mischeif - . | beief | thief | grief L]
i 7 | familiar Clein s omaye s o= hammer oty S ol grammer T |
‘ S - AR R TS AT R R TR IR S D W el B T
[73_ | focal l vocal | vehical | local ]
CUGSHIAEEEIN e A NS 10 Kafy % ‘l‘l&:'l')" AN P O ERARE S IS TR EO
NN LS T T TR I T T It Sl W T U et o -"i Riiva oS HUN "‘.““-’ b‘\.‘ Sy 200t NS5
ﬁ 2 lcarpentel' ldeﬁt’elst MRS ldocfor Q0 I ‘4 plumber NS a5 _J
LR N OEERT D TR RO N I I e ’I AN G OO |
175__| volkano |crater “Jlava 5" .?;\.},éanh.;._%s:'.'{ ]
For question no 76-80 please choose one of the' 4 altel’natlves that can be subshluled for
the given Seritence.’ @ . __ ' ! SIS e Sy, TG
76 A person who believes in God. _
1 Theist | Cynic | Atheist - . . *- | none:ofthese
'[77 " Story of an individual by himsalf. e T
biography | autobiography | history Inonectthess, |
78 Abookorpaperwrltt‘enlnhand B Y Ty : »~» —
v draft
édition mahuscript | none of these _|
79 A number of ships. 3 A
fl | galaxy - :
eet 1 constellation | group. - . 3
80 A young Cow. e '
bovine | herd | calf 5
l none of these
10
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Out of the choices given therein. /

05 B, R et 2 3 oy oy,

T HEAT 81

Vindhya/ fa
81 n yaﬁﬁtpum/w Aravali/3R&® | Dal Lake/ 5 9 |

82 Ganga raiar

Yamuna/ m Brahmputra / #&#97 | Kaveri/ @rad j

83 | Ammeter/ ey Thermometer/usifrirer Barometer/&# 1T | Temperature/ artmm]

el

84 [ Mango / 3mH apple / ¥ potato. / e[ blackberry /
e Wi B PR L | R

85 | Aizawal /-3ty - |tanagar/sa=m | Tripura / Fqr- Shillong / Rrarr

.....

H L4 b7

For questlon nos. 86-90 each question contains a palr of ‘words. Find the relalfonship.
between these two words Then choose from the options given in which the relationship is
almost simjlar; /T FEAT 86-90 -, TAF W H U TR - GTH gl @t am‘r F F qEY

mlmmmmﬁaW##mmmmhma#gﬁm X
86 | Copper.:, metal / @far : A G RN T e SINow + . :
N nplne car/v o . Furniture : wood /. Pen pencul/ . |-Pepper : spice / . _
| Teer: wr ‘et LRl o s
T7 [ Gtanary : wheat / w11 “ﬁ{ . i 1 I
lake : water / wine : grapes / gallery : art/ Archive:documents/ g 3
L U T SR e YRR kv O I

- - LN .
. Y . ' ’ee ’ !
" " »N . e Pa B 1 J L . - . .
&) 10 &, [ 3 (2 (AU ¥ gy el

88 | Albania : Europe / 3reaferar R
Sydney : Australia/ |Congo : South America/ ﬁengaluru »India/.| Cote d' Ivoire : Africa /[ -

Rweh : Imefaar + &fayey, AT o A #re & wwad ; anfraT
89 | Uranium : Nuclear power plant / T Ve
PATH : wA] Folt qEA ;
coal : washery / sand :sea / | coal:thermal power plant / | steam : furnacé/
wrgar ; andy X AT AT : A FoA HGT A

11 ERL
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Hallikar : cow / gefta : ot b7 mule : horse /
dachshund : dog / | Gir:lion / g I:mm FegY ; uEr
SYE : e ;R essliE

'} - B /
91 In the number series, what number should come next? 7, 10, 8, 11, 9 |
HEAT FA A, e wear 4w gaie 7, 10, 8, 11,9, 12, ...,
11 | 15 [14 10
92 | What comes next R, U, X, A, D, ...?/
R, U, X,A;D, ... & 3mrer a1 3moem Hagihas :
F |G, [H . [
|93 If the 7* day of a month is 3 days earlier than Fnday. then what day wull be oh the 19"
: day of the month? '/
mmmmmﬁaawa3ﬁwqﬁ? a‘rn%ﬁwmmﬁ:rwawshm
Sunday/ {RaR | Monday/ s Wednesday/gqerar: Friday/sprar
94 If EARN is related to RANE and BOND is related to NODB, in the same way TEAR is
" | related to : / o VTt .
;nz EARN wi#ft & RANE 3tk BOND Hafid ¥ NODB &, ar 3% gy TEAR wafd
ATRE | AERT [ARFT [REAT =
85 Average age of a father and his

age of the son? /
VE Rar ik 3wk
ety .14

son s 22 years, Ratio of their age s 10:i. What is the

ynmmzzﬂklmmwmwn b

I #r g

4 years/4 af

'\
24
years/24 x¢ 40 years/40 a

——

6 years / 6 af J
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tion nos. 96- .
For ques ;i th1 ??h each Quest|9n comprises of a statement and two conclusions (1)
and (1) 9 that the statement is true, which of the conclusions follow logically from
e statement? /

“am96-100ﬁ,mma#mmmaﬁw&(n)m(n)ﬁwmgv%m
g b, A W wd affs w1 ¥ s ¥ w3

9 | Statement :

In a one day cricket match, a team made 200 runs, out of which 160 runs were made
by spinners. / @& Raw frde #g &, e &\ & 200 @ @@, SEA F 160 W
Rqet o & |

t, Conclusions: fassg ‘
1 ()  80% of team consists of spinners./ € # 80% 9K & |
(1) . Opening batsmen were spinners./ YR#¥&F Toaarst e & |
Only conclusion (1) Only conclusion Nelthe:r’(l') nor(ll) - B'ofh"(l)_ & (I
follows / ¥aw sy | (Il) follows / follows / & @ (1) . _ | follow / (1) 3 (1)
L amem | e fswd () | R & (1) e 2t & e
T

|

|
N i R .
% The old order changeth ylelding place to new./qirT zawuT & T T A SR e
‘, ! § | 37 VR AR A 8 ~ o ERERE W A e
‘Conglusions: Pk e e

Vet

() Changels the law of nature. / TRwdm wRmRE
(1) Discard old Ideas because they are old./gre fremt !?r wm &, waltfh wE @

‘ LA
|
| | ? “Only.conclusion Il Neither (I).nor (It) .- | Both (1) &(I}) ,
: A.&r:lmnz:;lon W follgwo | Ew follows / & & () follow / (I)'aﬁ'r ()
| | | vt () oo o | Pk ) e | SR # (1) O 2t . Jmdr

o e ie) . tional Al rﬁlnlum Company
Because of growth in production of Aluminium by National Alu ;
India has be%ome self-sufficient in Aluminium./ T AR FFIA SR
mmmm#qﬁtm,muﬂﬂﬂwﬁﬁmﬁwt |
Conclusions: fresd v
(1) Previously India had to import Aluminium. | qE HRA ® FegfAfas &
TS AT T T |
() At this rate, India may start exporting A!umlnlum./ 5 & W, HRA
U sraeran @ fta e a awar ¥ |

1 | Neither (1) nor (I) Both (1) & (1)
?::Iywzng::'lon . z::lgw? r/\c*I:_J;I‘on( : follows / & @r (1) follow / (1) 3 (1)
ollo

s (1) 3moem fred (1) amoam | AR A & (1) e 2yt @ 3mer

13

e
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or question NOS. 96-100, each question Comprises of a statement and tw

umi 3 o conclusions (1)
and (- Assuming that the statement is true, which of the conclusions follow logically from
he statement? /

mamewooﬁ.mm#wmmaﬁm&mm(m %.wmgt'ﬁ?m
ﬂg,mmﬁwmm#ma:mmm

g6 | Statement : &

1

In a one day cricket match, a team made 200 runs, out of which 160 runs were made

by spinners. / W& Ra¥ frde #7 &, v &F & 200 & @A, FweT & 160 @
fRqert & &= |

Conclusions: fassd

(1) 80% of team consists of spinners./ & # 80% R & |
() . Opening batsmen were spinners./ TRT#¥& aeaars RaeX & |
Only conclusion (1) | Only conclusion | Neither (f) nor-(Il) - | Both{(l) & (1)
follows / ¥aw st | (1) follows / follows / & ar- (1) - [ follow / (1) 3 (1)
Lo ameer | Faw fewd (1) | AR & (1) e 2t & e
e

o7 -1 Fiatement | UM e D T G TR 3
The old order changeth ylelding place to new./gIw LRI wmﬁwm el
WY SRR B S SRR SR S T SRR I Y ek
‘Canclusions: frem .o e

()  Change Is the law of nature. / afterde T
(1) Discard old Ideas because they are old./gtw Rrerdt IR wmr &, waifle aF [

LA _
7 )| Only.conclusjon:Ii.: [ Neither (1)-nor (It) .. | Both (&) ;o
..glr:lmn:::on W follgwo | Ew follows / & & (1) follow /(1) 3t (1)

L | o () oo | Bk (1) 3 SR @ 1) 2t & ame
o8

e ) I tl- | Al hlnlum Company
Because of growth in production of Aluminium by National Alu ;
India has be%ome self-sufficient in Aluminium./ TS FeqAfAas FF AR

yefhfras e # gR0 & O, mmﬁwmﬁwt |
Conclusions: frssd v
(1) Previously India had to import Aluminium. / qlra‘f HRE W FegfAta #
AT AT TEaT o |
(") At this rate, India may start exporting A!umlnlum./ ¥ & W, JRA

(2
sregfafaas & Aafd YT F Fwd
Only conclusion (1) | Only conclusion (I1) Neither (1) nor (1) | Both (1) & (Ll%—( ”
4 / et follows / &as follows / @ @ (1) follow / (l)'
msu) e forsad (1) 3w & & (1) IreEm | 2t Lam’v‘r__/J
| —— 13
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99 | Statement: H¥e :
' All mangoes are golden in colour. No qolden coloured things are%cheap./
mmwwa;g|mmwﬂmaﬁraﬁmaﬁm l
Conclusions: s
()  Allmangoes are cheap. / 3 3m7 W& |
()  Golden coloured mangoes are not cheap. / wgY {1 & IHH F&A et § |
Only conclusion (I) | Only conclusion (II) | Neither (I) nor (Il) | Both (I) & (Il)
follows/ ael follows / &aer follows / & @ (1) | follow / (1) 3R (1)
s (1) ameem | fswd (1) smoam | AR & & (1) amoem | @ & 3oy
100 | Statement: &y ]

Jade plant has thick leaves and it requires little water, /
m:m&mmm&msﬂmmammﬂm& I

Conclusions: fRswd

All plants with thick leaves require little water, /
mmmmmwmmermmm: I

(1)

() Jade plant may grow in places where water is not in abundance. /

AT FT qiur wwﬁwmmtaﬁm&maﬁmtl

Onl
e only conlusion (1l | Neither (1) nor (1) | Both (1) & (Il
Bk s ollows / ¥aq follows / & ar (1) follow /7 (1) 3R (1)
o W) smem | 3R o g () smoam axat & e




